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B {T 8H28H(A) | 8A29H(AX) | 8A30H(K) | 8A31H(RK) 9A1H(E) 9H2H(x) 9H3H(H)
K:E(°C) 29.3 28.2 28.3 27.6 26.8 27.6
=m (°C) 26 26 26 26 245 25
A 1A - EIR(m) 7505 B2 b i) F®R2 1.6 780.7
x5 i i £ £ ) i
2 i {E&(cm) 4 0) 18 D E T H # & z D 4 T/ RAF 1T
A3 4 15~26 4 T73h= HE & %A E,GMR
A5F3 8~10 123 T HEX B~E,I~KM,N,Q
I\ 20~40 117 X737 & HEX B~EH~KMN
A5 33~39 4 TIAXTE JEX ¥ C,DR
RS 16~20 31 T LY HEX EvY B~FH~M,Q
= 15~34 223 TEAFTE JEX ¥ B~E,G~JMN,Q
243 10~18 258 TEAFTILY HEF D& RIT A~E.G~KMN,Q
7o 20~25 298 TEAFTE HYEX ¥ B~FHL~N
7oa 12~20 395 TEIAFXTE HEF D+ B~E,G~JN,QR
)3 37 1 7o ESAT#EMNT D
Hhy3 15~18 3 FXTILY Sy &IF B.E
HYIT(FS5HhD) 15~18 2 L AXT7S =i+ K,L
FUNE 20~25 3 Hh=T7= FAYEX AEN
FR 15~23 3 LT = HEX AH,Q
HT 26.5 1 T HEX N
BN 225~28 74 7= HEX B~EH,Q
+H31) 33.5 2 T2 HEX Q
VIPZAVAP) 18 1 T HEX R
FX 42~52 2045 2 h= &IA B.K
ES A 32~40 2 7oITY HE X ESAMEEMNT D,J
73 48 1 7o3 HEX H
A& A 43~45 3 A=FF7= A OFx GO
RS 50~58 2 FX7= e N
AN 15 1 = HEX K




